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OEMA A
Al.2004: AEIL= A& ay.a + A& ay.s= PAXQa+PsXQp<=>
22.000=100X70+ PgX75<=> 22.000= 7.000+ 75Pp<=>
22.000-7.000=75 Pg<=> 15.000=75 Ps<=> Ps=200
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Eneion 1o 2004 ceivar £€tog Phong(AT=100) 1oyder «on
AEHT'E:AEHGS oto. nuégzzz . OOO

2005 . AEHGg GIQGZ(AEH‘[‘[/AT)XI 00
<=>25.000=(AEIT:+/120)/100<=>

100AEIT:=3.000.000 <=>_AEI1=30.000

AEIT=PaXQat+ PsXQp<=>30.000=120XQa+225X80<=>
30.000=120Qa+ 18.000<=> 120Q»=12.000<=>

Qa=100

EnaM@gvon: 1° tpomog: AEIls: or. = (AEIL/AT)X100=
(30.000/120)X100=25.000

2% tpoémog: AEII 4¢ 6:.=100X100+200X80=10000+16000=26.000?

A2.Antpayp. AEIT2004—2005=AEIT2005 & Cofao. wp-AEIl2004 oe  ota0.
w.=25.000-22.000=3.000

A3. 2004: K TPAYLL. AETI=(TTparyp.
AEIT/nAn0.)=(22.000/1100)=20

2005:K.k.mpayu ABI=npay. AEI 2004 +25% Xmpary L.
AEIT2004=20+235/100)X20=25

K.x.mpayp ABNTI=(npaypn. AEIT)/min0<=>25=(30.000)/mAn0.
<=>mAnd:s1200

A4. 2004: Owovopuka un evepyog minbvouoc= 600
[TAnBvopoc=0Owcov. un evepydct+ Owov. Evepyoc<=>
1100=600+0w. Evepydc<=>0w. Evepyog [TAn6.=500
Ow.Evepyog minb. 11 Epyatikd Avvapikd=
AmacyorovpevortAvepyor<=>500=400+Avepyor<=>Avepyor=100

[Tocooto avepylac=(ApOuOS Aveépymv/epy.Avv.)X100=
(100/500)X100=20%








